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5=3<ZIR3, 4=%5385, I=ELHELVAAL, 2=F3BbLL,.  1=2<F3BHEL,  O=EFTELL,

FYRMXE L 5—F B

61A—200A 201 A—500A 501 A—

< FigfE=3 > < FifE=3.84 > < FifE=362 >
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[006]CDIREXTHEMLGEB~DERZERINELL=A?

5=3<ZIR3, 4=%5385, I=ELHELVAAL, 2=F3BbLL,.  1=2<F3BHEL,  O=EFTELL,

=HRHEE MERREE B BELFRHHAE REBRHEMRAEAE

< FHfE=3.8 > < FHfE=3 > < FifE=433 >

HI¥HRHEE

< FigfE=38 >
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[007)B 75 =X DIBEERFELELI-M?

5=REHL, 4=1—2ERKE, 3=3—4ERE, 2=5-6ERKE. 1=7ELULRE, O=EFTELGL,

ey
23HHA
1A—60A 61A—200A 201 A—500A 501 A—
B5:85.6% B5711%
(23620) (15320)
04:12.9% 04:25.9%
(357A) (558.A)
D3:1.3% 03:2.3%
(350) (50A)
D2:0.1% D2:0.6%
(3A) (12A)
BL0.1%
(BA)
B0:0%
(2N
< FigfE-484 > < FifE-483 > < FifE =467 > < FifE =465 >
HEEE A
1A—60A 61 A—200A 201 A—500A 501 A—

< FHfE=473 > < FHfE =475 > < FHfE=471 > < FHfE=473 >
REFBHEE
1A—60A 61A—200A 201 A—500A 501 A—

< FYfEi=4.69 > < FYft =442 > < FHfti-4a.62 >
APEHEA
1A—60A 61 A—200A 201 A—500A

< FigfE-48 > < FifE=474 > < FifE=472 > < FifE=a5 >
BURZFEHE
1A—60A 61 A—200A 201 A—500A

< FifE=459 > < FifE=473 >

< FifE=485 >
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[007)B 75 =X DIBEERFELELI-M?

5=REHL, 4=1—2ERKE, 3=3—4ERE, 2=5-6ERKE. 1=7ELULRE, O=EFTELGL,

EMERFHEE

1A—60A 61 A—200A 201 A—500A

< FigfE=5 > < FifE=483 > < FifE=472 >
BEITHEHHE
1A—60A 61A—200A 201 A—500A

< it =494 > < i =495 > < it =474 >

HEFEHEA

201 A—500A

< FYfE=4.67 >

SEEHEERE

1TA—60A 61 A—200A 201 A—500A

B5:85.9%
(1836.A)
D4:12.6%
(270A)
o3:13%
(28A)
D2:0.1%
(BA)

< FifE=4384 > < FifE=458 > < FifE=417 >
BR- AE#ERHAE
1A—60A 201A—500A

< FifE=438 > < FifE=487 > < FifE=485 >

_32_



[007)B 75 =X DIBEERFELELI-M?

5=REHL, 4=1—2ERKE, 3=3—4ERE, 2=5-6ERKE. 1=7ELULRE, O=EFTELGL,

FYRMXE L 5—F B

61A—200A 201 A—500A 501 A—

< FigfE-48 > < FifE=489 > < FifE=476 >
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[007)B 75 =X DIBEERFELELI-M?

5=REHL, 4=1—2ERKE, 3=3—4ERE, 2=5-6ERKE. 1=7ELULRE, O=EFTELGL,

=HRHEE MERREE B BELFRHHAE REBRHEMRAEAE

< FYfE=473 > < FifE=5 > < FYfEi=4.25 >

HI¥HRHEE

< FigfEi=5 >
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[008] 7%= IS EBEITFHENCOVCDEED FEEEBZTOTLEIMN?

5=2Bft, 4=18M3051EE., I=1KHEE, 2=3071EE. 1=08H, O=EZFTEHL,

SFHEE

61 A—200A 201 A—500A 501 A—

< FifE=256 > < FifE=1.97 > < FifE=171 > < FifE=141 >
HEEHEA
1A—60A 61 A—200A 201 A—500A 501 A—

=

< FiYfE=2.18 > < FifE=15 > < FfE=1.62 > < FiYfE=1.41 >
REFBHEE
1A—60A 61A—200A 201 A—500A 501 A—

< FYfE=1.42 > < FYfE=135 > < FifE=1.61 > < FYfE=1.33 >
APEHEA
1A—60A 61 A—200A 201 A—500A 501 A—

< FifE=3.47 > < FifE=181 > < Fi9{E=2.08 > < FifE=1.83 >
BURZFEHE
1A—60A 61 A—200A 201 A—500A

< FifE=162 > < FifE=167 > < FifE=17 >
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[008] 7%= IS EBEITFHENCOVCDEED FEEEBZTOTLEIMN?

5=2Ff L, 4=1HM3001EE, 3=1HMEE, 2=3078E. 1=0HfM, O=EEFTEALL,

EMERFHEE

1A—60A 61 A—200A 201 A—500A

< Fi9fE=333 > < FifE=217 > < FifE=2 >
BEITHEHHE
1A—60A 61A—200A 201 A—500A

< i =241 > < FfE=2.09 > < FifE=1.47 >

HEFEHEA

201 A—500A

< FYfE=1.34 >

SEEHEERE

1TA—60A 61 A—200A 201 A—500A

< FifE=259 > < FifE=35 > < FifE=1.94 >
BR- AE#ERHAE
1A—60A 61 A—200A 201 A—500A

®
&

< FifE=179 > < FifE=177 > < FifE=159 >
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[008] 7%= IS EBEITFHENCOVCDEED FEEEBZTOTLEIMN?

5=2Ff L, 4=1HM3001EE, 3=1HMEE, 2=3078E. 1=0HfM, O=EEFTEALL,

FYRMXE L 5—F B

61A—200A 201 A—500A 501 A—

< FigfE=14 > < FifE=1.47 > < FifE=1.48 >
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[008] 7%= IS EBEITFHENCOVCDEED FEEEBZTOTLEIMN?

5=2Ff L, 4=1HM3001EE, 3=1HMEE, 2=3078E. 1=0HfM, O=EEFTEALL,

=HRHEE MERREE B BELFRHHAE REBRHEMRAEAE

< FigfE=2 > < FigfE=2 > < FHfE=2 >

HI¥HRHEE

< FiofE=2 >
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